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- K[UE prKE Sl | BERRE | RE AR - BER(m/s) |THSWiE%| BETE |2 KBS E = =8

Wit YBmE (mm) (°C) (°C) (%) R | EmE (°C) (W/m) [ (MJ/m)
1 992.7 996.1 X -3.1 -6.2 79 09| SsSw -5.9 0 0.00 X
2 992.4 995.8 X -3.6 -6.5 80 0.0 | CALM -5.6 0 0.00 X
3 991.5 994.9 X -3.6 -6.3 81 0.4| SSE -5.6 0 0.00 X
4 990.8 994.2 X -3.7 -6.3 82 0.0 | CALM -5.7 0 0.00 X
5 990.4 993.8 X -4.6 7.2 82 0.0 | CALM -6.6 0 0.00 X
6 990.5 993.9 X -5.6 -7.9 84 09| SsSw -8.7 0 0.00 X
7 990.6 994.0 X -6.5 -8.6 85 0.4 S -8.4 7 0.00 X
8 990.8 994.2 X -6.3 -8.1 87 0.4 S -6.2 155 0.29 X
9 991.1 994.5 X -4.7 7.2 83 0.0 | CALM -2.7 301 0.82 X
10 | 991.1 994.5 X -2.1 -5.9 75 0.4 | WSW 1.4 414 1.34 X
11 | 990.8 994.2 X -1.4 5.1 76 1.3 N 1.1 462 1.64 X
12 | 990.0 993.4 X -0.6 -3.0 84 2.2 N -3.3 152 1.06 X
13 | 9895 992.9 X -0.5 -4.2 76 22| Nw -2.9 180 0.66 5 | x
14 | 989.8 993.2 X -1.4 -3.9 83 3.1 N -5.2 147 0.60 5 | x
15 | 990.2 993.6 X 2.2 -3.6 90 4.0 N -7.6 89 0.43 5 | x
16 | 9906 994.0 X -2.4 -3.8 90 3.1 N 7.1 42 0.26 X
17 | 990.9 994.3 X -2.7 4.1 90 4.0 N -9.2 0 0.03 X
18 | 9916 995.0 X -2.5 -3.9 90 3.1 N -8.3 0 0.00 5 | x
19 | 992.0 995.4 X -2.8 -4.0 91 3.1 N -8.6 0 0.00 5 | x
20 | 992.4 995.8 X -3.6 -5.0 90 2.2| NNE -8.7 0 0.00 5 | x
21 | 9935 996.9 X -5.6 -6.8 91 1.3 | NNW -9.5 0 0.00 5 | x
22 | 9937 997.1 X -5.9 7.1 91 09| NE -9.5 0 0.00 5 | x
23 | 9936 997.0 X -5.9 -7.0 92 0.4| ENE -8.3 0 0.00 5 | x
24 | 993.4 996.8 X -3.7 -4.5 94 3.1 N -10.3 0 0.00 5 | x
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